
   PARTS LIST    
 

7-32 

REF. SRS PART# VALUE DESCRIPTION 
Z 0  0-00104-043 #4 NYLON        Washer, nylon                            
Z 0  0-00108-054 1" #26          Wire #26 UL1061                          
Z 0  0-00122-053 2-1/4" #24      Wire #24 UL1007 Strip 1/4x1/4 Tin        
Z 0  0-00125-050 3" #18          Wire #18 UL1007 Stripped 3/8x3/8 No Tin  
Z 0  0-00126-053 3-1/2" #24      Wire #24 UL1007 Strip 1/4x1/4 Tin        
Z 0  0-00127-050 4" #18          Wire #18 UL1007 Stripped 3/8x3/8 No Tin  
Z 0  0-00130-050 5-5/8" #18      Wire #18 UL1007 Stripped 3/8x3/8 No Tin  
Z 0  0-00149-020 4-40X1/4PF      Screw, Flathead Phillips                 
Z 0  0-00187-021 4-40X1/4PP      Screw, Panhead Phillips                  
Z 0  0-00209-021 4-40X3/8PP      Screw, Panhead Phillips                  
Z 0  0-00212-021 6-32X2PP        Screw, Panhead Phillips                  
Z 0  0-00241-021 4-40X3/16PP     Screw, Panhead Phillips                  
Z 0  0-00256-043 #6 SHOULDER     Washer, nylon                            
Z 0  0-00257-000 HANDLE3         Hardware, Misc.                          
Z 0  0-00259-021 4-40X1/2"PP     Screw, Panhead Phillips                  
Z 0  0-00310-010 HEX 3/8-32      Nut, Hex                                 
Z 0  0-00351-029 4-40X1/4TRUSSPH Screw, Truss Phillips                    
Z 0  0-00372-000 BE CU / FFT     Hardware, Misc.                          
Z 0  0-00377-004 SR760/830/780   Knobs                                    
Z 0  0-00378-004 CAP 760/830/780 Knobs                                    
Z 0  0-00382-000 CARD GUIDE 4.5" Hardware, Misc.                          
Z 0  0-00389-000 PHONO PLUG      Hardware, Misc.                          
Z 0  0-00390-024 1-72X1/4        Screw, Slotted                           
Z 0  0-00391-010 1-72X5/32X3/64  Nut, Hex                                 
Z 0  0-00407-032 SOLDR SLV RG174 Termination                              
Z 0  0-00418-000 CLIP, CABLE     Hardware, Misc.                          
Z 0  0-00455-020 6-32X3/8PF UNC  Screw, Flathead Phillips                 
Z 0  0-00481-000 BUMPER/CORD WRP Hardware, Misc.                          
Z 0  0-00482-043 3/8X1/2X1/16THK Washer, nylon                            
Z 0  0-00483-000 FAN GUARD III   Hardware, Misc.                          
Z 0  0-00484-000 CABLE           Hardware, Misc.                          
Z 0  0-00485-057 GROMMET         Grommet                                  
Z 0  0-00486-000 CABLE           Hardware, Misc.                          
Z 0  0-00491-005 #10 SOLDER      Lugs                                     
Z 0  0-00492-026 6-32X1/2FP BLK  Screw, Black, All Types                  
Z 0  0-00495-021 4-40X11/16PP    Screw, Panhead Phillips                  
Z 0  0-00500-000 554808-1        Hardware, Misc.                          
Z 0  0-00525-050 8-1/4" #18      Wire #18 UL1007 Stripped 3/8x3/8 No Tin  
Z 0  0-00590-066 0097-0555-02    Copper Foil Tape, Self Adhesive          
Z 0  0-00893-026 8-32X3/8PF      Screw, Black, All Types                  
Z 0  1-00073-120 INSL            Connector, BNC                           
Z 0  1-00132-171 34 COND         Cable Assembly, Ribbon                   
Z 0  1-00153-113 11 PIN,18AWG/OR Connector, Amp, MTA-156                  
Z 0  1-00212-171 20 COND         Cable Assembly, Ribbon                   
Z 0  1-00213-171 34 COND         Cable Assembly, Ribbon                   
Z 0  1-00223-141 BULKHEAD JACK   SMB Connector                            
Z 0  1-00224-141 STRAIGHT PLUG   SMB Connector                            
Z 0  1-00225-169 26/40 IDC-40 CE Cable Assembly, Custom                   
Z 0  1-00226-169 34/60 IDC-60 CE Cable Assembly, Custom                   




